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15. B4 (C(s)), 34 (Hy(g)). MEIQ(CHa(g)2 H4 ¥HS (2L 7|4 o]Atatet4or oA =
FE: &= 84 & ) e ZHzF 242 390k]/mol, 290k]/mol, 890k]/mole] ¥& ==
sH= whgoltt. <®7]> ¥rSoA] WEsHe H[k]/mol]2?
<H7|>
| C(s)+ 2Hy(g) — CHa(g)
@ 80
® 210
® 1,570
® 1,860

HA(Cls)), +4a(Ha(g)), HIEIAU(CHy(g))] A4 RESAE 242 O, @, ©® ol2til 314,

O G + Oy — COy Qi = 390K]
1

@ Hyy + 500 — B0y, Q = 290K]

® CHy + 20y, = COy) + 28,0, Qs = 890K]

olA0] WAoo 2 Lob= ¥hZAI(C(s)+ 2Hy(g) — CHa(g)) 9 ¥H3-E(Q)S #+& 4+ Ut
D Gy + Oy 7 COy,

+ 2 X® 2Hy, + Oy, — 2H,0,
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C(s) + 28y, — CHy, Q

Q=Q1 +2XQ; - Q3
= 390 + 2%290 - 890
= 80 kJ/mol
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18. §* o]29] Fx} vjAIE 270 e 22
@ 1s”2s*2p°3s”3p?

@ 1s°25?2p°3s?3p°®

® 1s?2s%2p®3s?3p*3d?
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[S¥] = [Ar] = 1s%2s?2p°3s”3p°®

19. HSO4 (Ka=1.2X107%), HNO2(K,=4.0X107*), HOCI(K,=3.5%107%), NH,"(K,=5.6x10""") & 1M
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20. 73AHl 0.10M HNOs8&9 0.5Lo] 74%7]¢1 0.12M KOH& 0.5LS5 A7}siqict. who]
s &9 pHE? (B Bd22 A7le =9 Fos FARM)

73t 7}9d7] ojlog, BT AJRA o] 2stElct

_ N4Vy = NpVy,  0.1X0.5 — 0.12X0.56
No= Vi + V, B 0.5 + 0.5 B 0.01M
.. [OH] = 0.01M

pOH = -log[OH] = -log[107?] = 2
pH = 14 - pOH = 12
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